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Section A Reading (Comprehension) 10 Marks

Questionl. Read the following passage carefully and choose the answers.
5 Marks
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Question 2. Read the following passage carefully and choose the answers.
5 Marks
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Section B Grammar 10 Marks

Question 3. Choose imperatives from the following words. 4Marks
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Question 4. Choose long pronouns with the following words. 4Marks
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Question 5. Choose plural of the following words. 2 Marks
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Section C Literature (Prose & Poetry) 20 Marks

Question 6. Read the following passage and choose the correct answer.
10 Marks
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Two husband and wife (a)
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means 8,50 .2
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Wanted to write destiny (a)
Wanted to vow (b)
Wanted to classify (¢)
Wanted to divide (d)

Question 7. Choose answers from the couplets. 10 Marks

A g e 52 02 sl 22
Gla 40 Gpd s ol )30 (i
iy 5 0 Ul s )48
A zlise 5 a5 s N 4

3 ik g Al )3 e

LT g g (D 90 03 ganl DA

-C:\;:\S gﬁﬁl\g\};euts)w\dgbﬁ;)&

WD gal )l 2 s
Gl S 53 8 ) (oS iy e
pri Ay (AT 9 38 93 94 )
A )l Ay Ghass dles S 4

€250 Le il 4S Gua s sd a8

BB E gal Jadpe s 1
Aamli 368 A e dla g ) 4l(a)
A Olardy ad e Ja A ) si(b)
A Jlad & a3 e Ja o 3l (©)



Ad aata a3 e Jla g ) sl(d)

Gl 4x G ol 230 (s Gl S )3 ) S v 2 2
A5 se e gl O )l Sl ()
I e e Bla 0 R0 05 25 AL (D)
Asad e sla )3 85 O 2,8 (eds ol Sl (C)
Py Gla )3 8 O ) e sI(d)

oy 5 uE o Ul sy 48 ~ ps Ay (AT g iy 5390 4 3
SRl s e s Jesl(a)
SR e el st p 5@ i) Jl ()
A5 Gl (a5 e 4 51 (C)
28 ealdiul ¢ pu adly 5 e a3l l(d)

A zline 5 (e 5 Glas 0 4 Mzl B4y s s So e 4
o)y Zlisa g a4 1) asa Jg 4888 2 ()
48 S (a)
4 53()
4398 4 (C)

3 lea(d)

33 ik galn 0 e €250l ) ailuyaS (pag s 88 5
faw )y eSOl Hlagy

SE 5 iS4 (a)

sl 51 A 4(b)

353 5 ek 43(C)

alady 5ol 4(d)

Section D Internal Assessment 10 Marks






